
6720
No. of Printed Pages : 23

!6720Accountancy!

PART - III

A¨Tº¢y]  / ACCOUNTANCY

( ospLtU, CUYæ}xV nLxLÍqeU / Malayalam & English Versions)

yopkq]i] : 3 oe]¨P¡ ] [ kqoLvi] oL¡ V̈V  : 200

Time Allowed : 3 Hours ] [Maximum Marks : 200

j]¡SÇw°¥ : (1) S\Lh|¨asLô]Rs A\ÿa]pORa YOej]svLqU kq]SwLi]¨OW.
IRÍË]sOU SkLqLpÜWtORºË]¤ SzL¥ yPÕ¡RRvyRr
yo}k]¨OW.

(2) IuOfOvLjOU Aa]vqp]aOvLjOU WrOSÕL j}sSpL j]r¾]sOç
ox]oLNfU DkSpLY]¨OW . \]Nf°¥ vqàOvL¢ Rk¢y]¤
DkSpLY]¨LU.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Register Number

Rr^]ð¡ jUm¡

[ orOkOrU / Turn over

nLYU --& A/ PART - A

WOr]ÕV : IsæL S\Lh|°¥¨OU D¾qRouOfOW. 30x1=30

Note : Answer all the questions.

I. v]ŸOSkLpnLYU kPq]Õ]¨OW.

Fill in the blanks.

1. SWæLy]‚V SðL¨]jV v]spOºLWOÐfV vL°]pv]sSpL __________ v]sSpL
WOrpOSÒLuLeV.
Closing stock is valued at cost price or __________ price whichever is lower.

2. NWc]SãuVVy]R£ c]ØTº]jOç vñOfW¥ mLs¢yV x}ã]Rs __________&¤
j]ÐV  WOràOÐO.
Provision for discount on creditors is deducted from __________ in the balance
sheet.
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3. 01.04.2013 &Rs 12% ks]wpV¨V ` 5,00,000 &¾]R£ vLpVÕ¨V KqO mLËV
Nap¤ mLs¢yV WLe]¨OÐO. ` 30,000 ks]w AaàOÐO. 31.03.2014 &¤
ks]wpOU S\¡¾V `__________ BeV.

The trial balance shows a Bank loan ` 5,00,000 at 12% interest on 1.4.2013.  Interest
paid is ` 30,000.  Interest outstanding is ` __________ on 31.3.2014.

4. ke mcV̂ ãV __________ &jV DkSpLYNkhoLp DkWqeoLeV.

Cash budget is useful tool for __________.

5. KqO __________ &jV yhQwoLeV KqO v|LkLq NkñLvj.

A Statement of Affairs resembles as a __________.

6. YOcVv]¤ KqO __________ y~¾LeV.

Goodwill is an __________ asset.

7. KqO pNÍ¾]R£ v]ãv]s ` 4,00,000 &DU  v]s×jp]¤ DºLp sLnU ` 36,000
&DU BpL¤ pNÍ¾]R£  SqXRÕaO¾]p v]s `__________ BeV.

If the selling price of a machinery is ` 4,00,000 and profit on sale is ` 36,000, the
book value of the machinery is ` __________.

8. __________ oPs|SwLxeq}f]pLeV kLŸ¾]jV DkSpLY]¨OÐfV.

__________ method of depreciation is used in the case of lease.

9. KLÕe]‚V SðL¨OU SWæLy]‚V SðL¨OU pgLNWoU ` 33,000 &vOU ` 17,000
&vOU BeV.  wqLwq] SðL V̈  `__________ BeV.

The opening stock and the closing stock are ` 33,000 and ` 17,000 respectively.
The average stock is `__________.

10. mLi|fpORa oPs|U v¡È]¨OSÒL¥ AfV __________ &¤ WsLw]¨OÐO.

When the value of liabilities increases, it results in __________.
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11. kË]ŸO RWLaO¨L¾ sLnU mLs¢yV x}ã]R£ __________ vw¾V
WLeRÕaOÐO.
Undistributed Profit will appear on the __________ side of the balance sheet.

12. ke mcV^ã]Rj __________ IÐOU v]t]¨OÐO.
Cash budget is also called as __________.

13. òLkj¾]R£ CSÕLuR¾ Wa°¥ AaàLjOç Af]R£ ƒofRp
At¨OÐfV __________ AjOkLfoLeV.
__________ ratio measures the firm’s ability to pay off its current dues.

14. qºV v]t]W¥¨]aàV __________ RRh¡Z|U DºLp]q]¨eU.
There should be a gap of __________ between two calls.

15. KqO WÒj] ` 10 v}foOç  1,00,000 KLzq]W¥ RkLfO^j°¥¨Lp]
kOrRÕaOv]\ÿO. kSƒ 70,000 KLzq]W¥ V̈ oLNfSo vq]¨LqLpOçP. Af]R£
vq]¨LqL¨RÕŸ oPsijU ` __________ BeV.
A company issued 1,00,000 shares of ` 10 each to the public but only 70,000
shares were subscribed.  Its subscribed capital is ` __________.

II. fÐ]q]¨OÐ oPÐV D¾q°t]¤j]ÐV JãvOU AjOSpL^|oLpfV f]qR´aO¾V
KLkVVx¢ SWLcOU Af]R£ D¾qvOU IuOfOW.
Choose the most suitable answer from the given three alternatives and write the option

code and the corresponding answer.

16. k]q]´OW]ŸLjOç vLaW :
(a) KqO mLi|f (b) KqO Bñ] (c) KqO vqOoLjU
Rent outstanding is :

(a) a liability (b) an asset (c) an income

17. k]¢vs]¨OÐ fOWpORa ks]w WOràOÐfV :
(a) vqOoLj A¨Tº]¤j]ÐV
(b) oPsij A¨Tº]¤j]ÐV
(c) R\svV A¨Tº]¤j]ÐV
Interest on drawings is deducted from :

(a) Income Account

(b) Capital Account

(c) Expense Account
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18. RoL¾sLnU RRWoLãU R\áOÐfVV :

(a) oPsij A¨Tº]Ss V̈

(b) sLn&jì A¨Tº]Ss V̈

(c) CvRpLÐOosæ

Gross profit is transferred to :

(a) capital account

(b) profit and loss account

(c) none of these

19. NWc]ãV v]s×j sn|oLWOÐfVV :

(a) qy}f]W¥ AaSàºOÐ A¨Tº]¤ j]ÐV

(b) RoL¾ Wa¨LqORa A¨Tº]¤ j]ÐV

(c) RoL¾ WaURWLaO¾vqORa A¨Tº]¤ j]ÐV

Credit sales is obtained from :

(a) bills payable account

(b) total debtors account

(c) total creditors account

20. SqXRÕaO¾]p oPs|q}f]p]¤ ` 10,000 &jV 10% vL¡x]W j]q¨]¤ Bh| oPÐV
v¡xS¾ V̈ sn|oLWOÐ BRW oPs|SwLxefOW Bp]q]¨OU :

(a) ` 2,107 (b) ` 2,710 (c) ` 2,701

Total amount of depreciation provided on the written down value method at the

rate of 10% per annum on ` 10,000 for first three years will be :

(a) ` 2,107 (b) ` 2,710 (c) ` 2,701

21. KqO v|LkLq òLkj¾]R£ CSÕLuR¾ y~¾V ` 80,000 &vOU CSÕLuR¾
mLi|f ` 40,000 &vOU BpL¤ CSÕLuR¾ j]q V̈ Bp]q]¨OU :

(a) 1 : 2 (b) 1 : 1 (c) 2 : 1

If current assets of a business concern is ` 80,000 and current liabilities are
` 40,000, then the current ratio will be :

(a) 1 : 2 (b) 1 : 1 (c) 2 : 1
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22. mcV̂ ãV We¨L¨RÕaOÐf]R£ Aa]òLjU :

(a) keU

(b) nTf]WpPe]ãOW¥

(c) kevOU nTf]WpPe]ãOWtOU

Budget is expressed in terms of :

(a) money

(b) physical units

(c) money and physical units

23. ò]q oPsijq}f]p]¤ kËLt] V̈ RWLaO¨OÐ wÒtU SqXRÕaO¾OÐfV :

(a) Wr£V A¨Tº]¤

(b) oPsij A¨Tº]¤

(c) Wr£V A¨Tº]SsL oPsij A¨Tº]SsL

Under fixed capital method salary payable to a partner is recorded :

(a) in current account

(b) in capital account

(c) either in current account or capital account

24. KqO WÒj] V̈ v]t]¨LvOÐ kqoLvi] v]t]WtLeV :

(a) KÐV (b) qºV (c) oPÐV

The maximum calls that a company can make is :

(a) one (b) two (c) three

25. KqO kËLt] k]q]´OSkLWOÐ yop¾V kup sLn j]q¨OU kOf]p sLn
j]q¨OU fÚ]sOç v|f|LyU __________ j]q¨]sLeV.

(a) sLn (b) oPsij (c) kq]f|LY

At the time of retirement of a partner the difference between New Profit ratio
and Old Profit ratio is __________ ratio.

(a) Gaining (b) Capital (c) Sacrifice
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26. KqO kOf]p kËLt] S\qOÐ yop¾V __________ We¨L¨OÐO.

(a) sLnj]q¨V (b) oPsijj]q V̈ (c) kq]f|LYj]q V̈

__________ is calculated at the time of admission of a new partner.

(a) Gaining ratio (b) Capital ratio (c) Sacrificing ratio

27. KLzq] WºORWŸ¤ A¨Tº]Ss¨V j]Sƒk]\ÿ fOW ` 700 BeV.
WºORWŸRÕŸ KLzq]W¥ v}ºOU kOrRÕaOv]\ÿf]R£ jìU ` 200 BeV.
oPsij WqOf¤ Bp]q]¨OÐfVV :

(a) ` 400 (b) ` 500 (c) ` 300

The amount credited to share forfeited account is ` 700.  The loss on reissue of
forfeited shares is ` 200.  Capital Reserve will be :

(a) ` 400 (b) ` 500 (c) ` 300

28. 1.1.2010 AjOyq]\ÿOç NWc]SãuõV ` 1,21,000 &DU 31.12.2010 AjOyq]\ÿOçfV
` 1,30,000 &DU BeV. CT v¡x¾]¤ NWc]Sãuõ]jV RWLaO¾ keU ` 2,09,000
BReË]¤ CT v¡xR¾ NWc]ãV vL°sOW¥ BeV :

(a) ` 2,00,000 (b) ` 2,09,000 (c) ` 2,18,000

Creditors on 1.1.2010 is ` 1,21,000 and on 31.12.2010 is ` 1,30,000.  Cash paid to
creditors during the year is ` 2,09,000 then the credit purchases during the year
is :

(a) ` 2,00,000 (b) ` 2,09,000 (c) ` 2,18,000

29. oPs|SwLxeU DpqOÐf]jV WLqeU ?

(a) y~¾]R£ SfpÜLjU

(b) y~¾]R£ WSÒLtv]sp]Rs fLuV\ÿ

(c) ke¾]R£ oPs|¾]R£ fLuV\ÿ

Depreciation arises due to :

(a) Wear and tear of the asset

(b) Fall in the market value of asset

(c) Fall in the value of money
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30. KLzq]W¥ WºORWŸOSÒL¥ WÒj]pORa oPsij KLzq] :

(a) AfOSkLRs fOaqOU

(b) WOrpOU

(c) WPaOU

When shares are forfeited the share capital of the company will :

(a) remain same

(b) reduce

(c) increase

nLYU & B/ PART - B

WOr]ÕV : (i) JRfË]sOU k¾V S\Lh|°¥ V̈ D¾qRouOfOW. 10x5=50

(ii) y]ÈLÍ S\Lh|¾]jOç D¾q°StLSqLÐOU 50 vL¨OWt]¤ WPaqOfV.

Note : (i) Answer any ten questions.

(ii) Answer to theory questions should not exceed 50 words each.

31. yUnq]\ÿ vqOoLjU IÐLRsÍV ?

What is accrued income ?

32. keqy}f]W¥ V̈ AµV DhLzqe°¥ j¤WOW.

Give five examples for cash receipts.

33. Kã I¢Na] v|vò j]¡v\]¨OW.

Define single entry system.

34. oPs|SwLxe¾]R£ kOj¡oPs|j]¡¹p q}f]Rp¨Or]\ÿV WOr]ÕV IuOfOW.

Write notes on revaluation method of depreciation.

35. KLzq]WtORa WºORWŸ¤ IÐLRsÍV ?

What is forfeiture of shares ?
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36. v]w]ì sLnU IÐLRsÍV ?

What is super profit ?

37. AjOkLfU – j]¡v\]¨OW.

Define Ratio.

38. `  25,000 Dç pNÍ¾]R£ oPs|SwLxe¾]jOç I¢Na]W¥ oLãOWpOU
NWo}Wq]¨OWpOU R\áOW.

Give adjusting entry and transfer entry for Depreciation on machinery ` 25,000.

39. v|LkLq¾]R£ sLnU IÍLp]q]¨OU ?

KLÕe]‚V oPsijU ` 1,60,000

SWæLy]‚V oPsijU ` 1,80,000

k]¢vs]\ÿ fOW   ` 36,000

Ai]W oPsijU   ` 10,000

What shall be the profit of the concern if :

Opening capital ` 1,60,000

Closing capital ` 1,80,000

Drawings   ` 36,000

Additional capital   ` 10,000

40. fLRu RWLaO¾]q]¨OÐ vñOfp]¤ j]ÐV Sj¡SqXLq}f]p]¤ oPs|SwLxej]q V̈
WRº¾OW.

y~¾]R£ v]s ` 1,00,000

\vrV v]s   ` 10,000

oPs|j]¡¹p WLsU 10 v¡xU

From the following particulars, find out the rate of depreciation under straight line
method.

Cost of assets ` 1,00,000

Residual value   ` 10,000

Estimated life   10 years
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41. ò]qy~¾]R£ v]ãOvqvV j]q V̈ WRº¾OW.

ò]qy~¾O¨¥        ` 1,00,000

oPs|SwLxeU   ` 25,000

v]s×jW¥        ` 3,00,000

Calculate fixed assets Turnover Ratio :

Fixed Assets ` 1,00,000

Depreciation   ` 25,000

Sales        ` 3,00,000

42. jLsO v¡xR¾ wqLwq] sLn¾]R£ oPÐO v¡xR¾ vL°s]sLeV YOcV v]sæ]jV
oPs|j]¡¹pU ja¾OÐfV. AvyLj jLsV v¡xS¾¨Oç òLkj¾]R£ sLn&
oLp]qOÐO :

2001 – ` 12,000 ; 2002 – ` 18,000

2003 – ` 16,000 ; 2004 – ` 14,000

YOcV v]sæ]R£ fOW We¨L¨OW.

Goodwill is to be valued at three years purchase of four years average profits.  The
profits for the last 4 years of the firm were :

2001 – ` 12,000 ; 2002 – ` 18,000

2003 – ` 16,000 ; 2004 – ` 14,000

Calculate the amount of Goodwill.

43. wLqhpOU yÌ|pOU sLnU 4 : 3 IÐ AjOkLf¾]¤ kËOv\ÿO. v|LkLq¾]R£

sLn¾]R£ 1
5

 KLzq]pOoLp] SyLl]p S\¡ÐO. kOf]p sLnj]q V̈ We¨L¨OW.

Saradha and Sandhiya were sharing profits in the ratio 4 : 3.  Sofia was admitted with

1
th

5
 share in profits of business.  Calculate the new profit ratio.

44. kL¼|¢ s]o]ãcVV; KLSqL KLzq]¨OU ` 20 Nk}o]p¾]¤ ` 100 v}foOç 1,000
KLzq]W¥ kOrRÕaOv]\ÿO. S^¡e¤ I¢Na] j¤WOW.

Pandian Ltd. issued 1,000 shares of ` 100 each @ a premium of ` 20 per share.  Pass
Journal entry.
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5x12=60

nLYU & C/ PART - C

WOr]ÕV : (i) 45 - LoR¾ S\Lh|U j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU Aµ V
S\Lh|°¥¨V D¾qRouOfOW.

(ii) y]ÈLÍ S\Lh|¾]jOç D¾q°StLSqLÐOU 150 vL¨OWt]¤ WPaqOfV.
Note : (i) Answer any five questions including question number 45 which is

compulsory.

(ii) Answer to theory questions should not exceed 150 words each.

45. (a) 31.03.2005 AjOyq]\ÿOç Nap¤ mLs¢yV C°RjpLeV :

y¦Nc] RcmVSãuõV ` 65,000.

NWo}Wqe°¥ :

(i) W]ŸL¨aU ` 5,000 IuOf]¾çeU

(ii) W]ŸL¨a¾]jOU yUwpLy×hWa¾]jOoLp] 5% v|vò
DºL¨]p]q]¨OÐO.

(iii) RcmVSãuõ]jV 2% c]ØTºV j¤W]p]q]¨OÐO.

NWo}Wqe°¥ fáLrL¨]p]ŸV AvyLj A¨Tº]¤ CvRpsæLU I°Rj
WLeRÕaORoÐV WLe]¨OW.

ARsæË]¤

(b) Kã I¢Na] v|vòp]sLeV è} . RRyo¦ ApLtORa mO¨OW¥
yPƒ]\ÿ]q]¨OÐfV. 01.01.2005 &RspOU 31.12.2005 &RspOU ApLtORa
y~¾O¨tOU mLi|fWtOU C°RjpLeV :

01.01.2005 

`

31.12.2005 

`

Wá]sOç keU 20,000 30,000

y¦Nc] RcmVSãuõV 1,60,000 1,90,000

j]Sƒk°¥ 40,000 40,000

l¡e]\ÿrOW¥ 10,000 10,000

y¦Nc] RNWc]SãuõV 1,00,000 1,20,000

\q V̈ 70,000 1,30,000

Ai]W oPsijoLp] ApL¥ `  40,000 S\¡¨OÐO . ApL¥  v}ŸL&
vw|°¥¨Lp]  ` 80,000 k]¢vs]¨OÐO. 2005 v¡x¾]¤ sLnSoL jìSoL
IÐV WLeOW.
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(a) The trial balance shows on 31.03.2005 as follows :  Sundry Debtors ` 65,000.

Adjustments :

(i) Bad debts to be written off ` 5,000.

(ii) Provision for bad and doubtful debts be created at 5%.

(iii) Provide discount on debtors at 2%.

Pass Adjusting Entries and also show how these items will appear in the final
accounts.

OR

(b) Mr. Simon keeps his books by single entry system.  His assets and liabilities on
01.01.2005 and 31.12.2005 stood as follows.

01.01.2005 

`

31.12.2005 

`

Cash in hand 20,000 30,000

Sundry Debtors 1,60,000 1,90,000

Investments 40,000 40,000

Furniture 10,000 10,000

Sundry Creditors 1,00,000 1,20,000

Stock 70,000 1,30,000

He introduced an additional capital of ` 40,000.  He withdrew ` 80,000 for
domestic purposes.  Find out profit or loss for the year 2005.

46. oPs|SwLxeU j]¡v\]¨OW. oPs|SwLxeU j¤WOÐf]jOç WLqe°¥
IRÍsæLU?

Define depreciation.  What are the reasons for providing depreciation ?

47. ke mcV^ã]R£ y~nLvyv]SwxfWtOU NkSpL^j°tOU IRÍsæLU ?

What are the characteristics and advantages of cash budget ?

48. ò]q oPsijq}f]pOU Aò]q oPsijq}f]pOU Sv¡f]q]¨OW.

Distinguish between fixed capital method and fluctuating capital method.
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49. SoLz¢ j]¡ÚLe WÒj] 2010 JNk]¤ 1&jV  ` 1,95,000 &jV pNÍU vL°OWpOU
AfV òLk]¨OÐf]jLp] ` 5,000 R\svL¨OWpOU R\pÅO . oPÐV v¡xU
DkSpLY]\ÿf]jOSwxU ` 1,20,000 &¾]jV v]ãO.

ò]q fveq}f]p]¤ vL¡x]W oPs|SwLxeU 10% j]q¨]sLeV IsæL v¡xvOU
j¤W]p]q]¨OÐfV.

IsæL v¡xvOU oL¡\ÿV 31 &jV A¨TºV AvyLj]Õ]¨OÐfV AjOyq]\ÿV oPÐV
v¡xS¾¨Oç pNÍ¾]R£ A¨TºOU oPs|SwLxe A¨TºOU fáLrL¨OW.

Mohan Manufacturing Company purchased on 1st April 2010 machinery for ` 1,95,000
and spent ` 5,000 on its installation.  After having used it for three years it was sold for
` 1,20,000.

Depreciation is to be provided every year at the rate of 10% per annum on the fixed
Instalment method.

Prepare machinery account and depreciation account for three years ended on
31st March every year.

50. fÐ]q]¨OÐ v]vq°t]¤j]ÐV  RoL¾ sLnj]q V̈, AãLhLp sLnj]q V̈, j]sv]Rs
sLnj]q V̈ IÐ]v We¨L¨OW.

       `       `

v]s×jW¥ 2,00,000 pNÍ¾]R£ v]s×jp]Rs jìU 1,600

RoL¾ sLnU 50,000 y~}Wq]\ÿ ks]w 800

KLl}yV R\svOW¥ 1,000 AãLhLp sLnU 32,000

v]s×j R\svV 3,000

From the following details, calculate Gross Profit Ratio, Net Profit Ratio and Operating
Profit Ratio :

       `       `

Sales 2,00,000 Loss on sale of machinery 1,600

Gross Profit 50,000 Interest received 800

Office expenses 1,000 Net profit 32,000

Selling expenses 3,000
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51. 2005 ^jOvq] 1  &¤ pgLNWoU ` 60,000 &DU ` 20,000 &DU oPsijS¾LaOWPa] \qeOU
ksævjOU kËLt]WtLWOÐO. 2005 c]yUm¡ 31&jV AvyLj]¨OÐ v¡xR¾
v|LkLq sLnU ` 12,000 Bp]qOÐO (NkoLe¾]Rs v|vòW¥ IaO¨OÐf]jV
oOÒV). oPsij¾]jV AjOvh]\ÿ]q]¨OÐ ks]w v¡x¾]¤ 6% BeV. ksævjV `
3,000 vL¡x]W wÒtoLp] RWLaO¨OÐO. kËLt]W¥ k]¢vs]\ÿ fOWW¥ \q¦
` 2,000 DU ksæv¢ ` 1,000 DU BeV; k]¢vs]\ÿ fOWWtORa ks]w \qe]jV ` 100
DU ksævjV ` 50 DU BeV.

\qeOU ksævjOU fOs| kËLt]WtLReÐV yËs×]\ÿV, sLn jì v]j]SpLY
A¨TºOU kËLt]WtORa oPsij A¨TºOU fáLrL¨OW. oPsij¾]jV;
Jã¨Or\ÿ]sORºÐOU WqOfOW.

Cheran, Pallavan are partners with capitals of ` 60,000 and ` 20,000 respectively
on 1st January 2005.  The trading profit  (before taking into account the provision of the
deed) for the year ended 31st December, 2005 was ` 12,000.  Interest on capital is to be
allowed at 6% per annum.  Pallavan is entitled to a salary of ` 3,000 per annum.  The
drawings of the partners were Cheran ` 2,000 and Pallavan ` 1,000 ; the interest on
drawings for Cheran being ` 100 and for Pallavan ` 50.

Assuming that Cheran, Pallavan are equal partners, prepare the Profit and Loss
Appropriation Account and the partners capital account, also assuming that the capitals
are fluctuating.

52. keoaàL¾ AvyLj v]t]¨V `  3 Dç oOuOvjLpOU v]t]\ÿO f}¡¾
`  10 v}foOç 1000 KLzq]W¥ Ry¤vU s] . WºORWŸ]. Cf]¤ j]ÐOU
800 KLzq]W¥ KLzq]¨V ` 8  &jV oOuOvjOU keoa\ÿVV v}ºOU kOrRÕaOv]\ÿO.
Bvw|oLp S^¡e¤ I¢Na]W¥ j¤W]p]ŸV WºORWŸ]p KLzq] A¨Tº]jV
scV̂ ¡ A¨TºOWtOU oPsij WqOf¤ A¨TºOU fáLrL¨OW.

Selvam Ltd., forfeited 1,000 equity shares of ` 10 each fully called upon which final call
of ` 3 has not been paid.  Out of these 800 shares were re-issued at ` 8 per share as fully
paid up.  Give necessary Journal entries and prepare Ledger accounts for Forfeited
Shares Account and Capital Reserve Account.
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nLYU & D / PART - D

WOr]ÕV : 53 - LoR¾ S\Lh|U j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU oPÐV
S\Lh|°¥¨V D¾qRouOfOW.

Note : Answer any three questions including question number 53 which is compulsory.

53. (a) fLRu krpOÐ vñOfWt]¤ j]ÐV mO¨OW¥ AkP¡¹ CqŸ I¢Na]
v|vòp]¤ yPƒ]¨OÐ è} . AoOhqwR£ 31.3.2012 &Rs  v|LkLq
A¨TºOU sLnjì A¨TºOU mLs¢yV x}ãOU fáLrL¨OW.

1.4.2011    

`

31.3.2012   

`

y¦Nc] NWc]SãuõV 37,500 43,750

l¡e]\ÿ¡ 2,500 2,500

keU 6,250 10,000

y¦Nc] RcmVSãuõV 62,500 87,500

KLzq] 25,000 12,500

oãV v]vq°¥ :

      `

k]¢vs]¨sOW¥    10,000

y~}Wq]\ÿ W]u]vOW¥      3,750

AjOvh]\ÿ W]u]vOW¥      2,500

RcmVSãuõ]¤j]ÐV y~}Wq]\ÿ keU 1,35,000

RNWc]Sãuõ]jV RWLaO¾ keU 1,12,500

Ryp]¤yVV r]SŸ¦               3,750

k¡S\ÿyV r]SŸ¦               1,250

y¦Nc] R\svOW¥¨V Aa\ÿfOW      8,750

l¡e]\ÿrOWtORa oPs|SwLxe¾]jV v¡x¾]¤ 5%CTaL¨OÐO.

ARsæË]¤
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(b) A, B IÐ} kËLt]W¥ sLnU 3 : 2 IÐ AjOkLf¾]¤ kËOvàOÐO.
31.3.2012 &Rs AvqORa mLs¢yV x}ãV C°RjpLeV :

          

mLi|fW¥ ` Bñ] `

AaSàºOÐ m]sæOW¥ 75,000 Wá]sOç keU 15,000

NWc]SãuõV 1,20,000 KLzq] 30,000

WaU 1,35,000 RcmVSãuõV 1,50,000

RkLfOWqOf¤ ijU 45,000 pNÍU 75,000

oPsij A¨TºOW¥ RWŸ]aU 4,50,000

A   3,00,000 j]Sƒk°¥ 1,00,000

B   2,25,000 5,25,000 YOcV v]¤ 80,000

9,00,000 9,00,000

2012 JNk]¤ 1&jV nLv]p]Rs sLn¾]R£ 
1

5
 KLzq]àV fLRu krpOÐ

v|vòW¥ yÚf]\ÿV ‘C’ òLkj¾]¤ S\¡ÐO.

(i) ‘C’ ` 1,50,000 oPsijoLp] RWLºOvqeU.

(ii) òLkj¾]R£ YOcV v]sæ]jV ` 1,00,000 oPs|oOºLp]qOÐO.

(iii) RWŸ]a¾]jV ` 20,000 oPs|SwLxeoL¨].

(iv) ` 30,000 NWc]SãuõV IuOf]¾ç].

kOj¡oPs|j]¡¹p A¨TºOU oPsij A¨TºOU kOf]p òLkj¾]R£
mLs¢yV x}ãOU fáLrL¨OW.
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(a) From the following information, prepare Trading and Profit and Loss Account
and Balance Sheet as on 31.3.2012 of Mr. Amudharasan who keeps his books on
incomplete double entry system.

1.4.2011    

`

31.3.2012   

`

Sundry Creditors 37,500 43,750

Furniture 2,500 2,500

Cash 6,250 10,000

Sundry Debtors 62,500 87,500

Stock 25,000 12,500

Other details : `

Drawings    10,000

Discount received      3,750

Discount allowed      2,500

Cash received from debtors 1,35,000

Cash paid to creditors 1,12,500

Sales Returns      3,750

Purchase Returns      1,250

Sundry expenses paid      8,750

Charge depreciation on furniture at 5% p.a.

OR



17 6720

[ orOkOrU / Turn over

(b) A and B were partners sharing profits in the ratio 3 : 2.  Their Balance Sheet as on
31.3.2012 was as follows :

Liabilities ` Assets `

Bills payable 75,000 Cash in hand 15,000

Creditors 1,20,000 Stock 30,000

Loans 1,35,000 Debtors 1,50,000

General Reserve 45,000 Machinery 75,000

Capital accounts : Building 4,50,000

A   3,00,000 Investments 1,00,000

B   2,25,000 5,25,000 Goodwill 80,000

9,00,000 9,00,000

On 1st April 2012 they agreed to admit ‘C ’ into the firm for 
1
th

5
 share of future

profits on the following terms :

(i) ‘C ’ to bring ` 1,50,000 as capital

(ii) Goodwill was valued at ` 1,00,000

(iii) Depreciate building by ` 20,000

(iv) ` 30,000 creditors to be written off

Prepare Revaluation Account, Capital Account and the Balance Sheet of the new
firm.
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54.  è}of]. W¦oe]pORa vñOfWt]¤j]ÐV 2004 oL¡\ÿV 31&jV   AvyLj]\ÿ
v¡xR¾ sLn&jì¨e¨OU  v|LkLq We¨OU mLs¢yV x}ãOU fLRu
RWLaO¾ vñOfWtORa Aa]òLj¾]¤ fáLrL¨OW.

vñOfW¥ Rcm]ãV

`

NWc]ãV 

`

oPsijU 7,50,000

keU 40,000

RWŸ]a°¥ 4,00,000

wÒtU 1,10,000

vLaWpOU j]WOf]pOU 21,000

KLÕe]‚V \q V̈ 1,20,000

pNÍU 1,20,000

k]¢vs]¨sOW¥ 40,000

vL°sOW¥ 5,00,000

v]s×jW¥ 7,50,000

Bn|Íq vLzj¨Ps] 5,000

CÌjU, Y|LyV 37,000

y¦Nc] RcmVSãuõV 2,50,000

y¦Nc] NWc]SãuõV 1,20,000

y~}Wq]\ÿ m]sæOW¥ 53,000

sLnv]z]fU 28,000

WaU 60,000

W]ŸL¨aU 2,000

kqy|U 16,000

y~}Wq]\ÿ WÚ}x¢ 6,000

17,14,000 17,14,000

Nap¤ mLs¢yV

NWo}Wqe°¥ :
(i) SWæLy]‚V \q V̈ ` 1,40,000
(ii) RWŸ]a°tORa oPs|SwLxeU v¡x¾]¤ 10%&jV IuOf]¾ç]p]q]¨OÐO.
(iii) oPsij¾]jV v¡x¾]¤ 10% ks]w j¤W]p]q]¨OÐO.
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(iv) oO¢WPŸ] y~}Wq]\ÿ WÚ}x¢ ` 1,000.

(v) oO¢WP¡ RWLaO¾ wÒtU ` 10,000

From the following particulars of Mrs. Kanmani prepare Trading and Profit and Loss
Account and Balance Sheet for the year ending 31st March 2004.

Particulars
Debit

`

Credit

`

Capital 7,50,000

Cash 40,000

Buildings 4,00,000

Salary 1,10,000

Rent and Taxes 21,000

Opening Stock 1,20,000

Machinery 1,20,000

Drawings 40,000

Purchases 5,00,000

Sales 7,50,000

Carriage inwards 5,000

Fuel, Gas 37,000

Sundry Debtors 2,50,000

Sundry Creditors 1,20,000

Bills Receivable 53,000

Dividend 28,000

Loan 60,000

Bad debts 2,000

Advertisement 16,000

Commission received 6,000

17,14,000 17,14,000

Trial Balance
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Adjustments :

(i) Closing stock ` 1,40,000

(ii) Write off depreciation on buildings at 10% p.a.

(iii) Provide interest on capital at 10% p.a.

(iv) Commission received in advance ` 1,000

(v) Prepaid Salary ` 10,000

55. fLRu krpOÐ mLs¢yV x}ã]¤j]ÐV We¨L¨OW.
(i) CSÕLuR¾ j]q V̈

(ii) s]W~]cV j]q V̈

(iii) RcmVãV CW~]ã] j]q V̈

(iv) RNkLRRNkãr] j]q V̈
31.3.2008 &Rs mLs¢yV x}ãV

mLi|fW¥ ` y~¾O¨¥ `

KLzq] oPsijU 70,000 ò]q y~¾V 65,000

WqOfsOW¥ 5,000 KLzq] 15,000

Wa°¥ 37,500 y¦Nc] Rcm]SãuõV 30,000

NWc]SãuõV 25,000 y~}Wq]\ÿ m]sæOW¥ 10,000

mLËV KLv¡NcLlVãV 5,000 keU 5,000

YOcV v]¤ 17,500

1,42,500 1,42,500

From the following Balance Sheet calculate :
(i) Current Ratio

(ii) Liquid Ratio

(iii) Debt Equity Ratio

(iv) Proprietory Ratio
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Balance sheet as on 31.3.2008

Liabilities ` Assets `

Share Capital 70,000 Fixed Assets 65,000

Reserves 5,000 Stock 15,000

Loans 37,500 Sundry Debtors 30,000

Creditors 25,000 Bills Receivable 10,000

Bank Overdraft 5,000 Cash 5,000

Goodwill 17,500

1,42,500 1,42,500

56. fLRu krpOÐ v]vq°t]¤j]ÐV 2005 oL¡\ÿV, JNk]¤, RopV oLy°tORa ke
mcV̂ ãV fáLrL¨OW.

oLyU

NWc]ãV  

v]s×jW¥    

`

NWc]ãV 

vL°sOW¥      

`

SvfjU    

`

oãV 

R\svOW¥    

`

KLl}yV 

R\svOW¥      

`

^jOvq] 60,000 36,000 9,000 4,000 2,000

RlNmOvq] 82,000 38,000 8,000 3,000 1,500

oL¡\ÿV 84,000 33,000 10,000 4,500 2,500

JNk]¤ 78,000 35,000 8,500 3,500 2,000

RopV 56,000 39,000 9,500 4,000 1,000

Ai]W v]vq°¥ :
(i) KLÕe]‚V ke mL¨] ` 8,000.
(ii) CakLaOWL¡ V̈ KqOoLyR¾ RNWc]ãV WLsLvi] AjOvh]\ÿO.
(iii) yRRkæprÓL¡ V̈ qºV  oLyR¾ RNWc]ãV WLsLvi] AjOvh]\ÿO.
(iv) SvfjvOU oãV R\svOWtOU AfLfV oLy¾]¤ Aa\ÿO.
(v) KLl}yV R\svOWtORa Aav]R£ fLoyU KqO oLyoL¨].
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Prepare a cash budget for the months March, April and May 2005 from the following
information :

Month
Credit Sales 

`

Credit Purchases 

`

Wages 

`

Misc. Expenses 

`

Office Expenses 

`

January 60,000 36,000 9,000 4,000 2,000

February 82,000 38,000 8,000 3,000 1,500

March 84,000 33,000 10,000 4,500 2,500

April 78,000 35,000 8,500 3,500 2,000

May 56,000 39,000 9,500 4,000 1,000

Additional informations :

(i) Opening cash balance ` 8,000.

(ii) Period of credit allowed to customers one month.

(iii) Period of credit allowed by suppliers two months.

(iv) Wages and miscellaneous expenses are payable in same month.

(v) Lag in payment of office expenses is one month.
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57. `  120 AaSàºOÐ ` 100 v}foOç 20,000 KLzq]W¥ yPy¢ SNYyV s].
kOrRÕaOv]\ÿfV C°RjpLeV :
ASkƒàV ` 25

AjOvh]\ÿ fOWàV ` 45 (Nk}o]pU ` 20 D¥RÕRa)
Bh| v]t] V̈ ` 25

AÍ| v]t] V̈ ` 25

oOuOv¢ KLzq]W¥¨OU vq]¨LqLp]. qºOU v]t]¨OWpOU oOuOv¢ fOWpOU
yop¾OfRÐ y~}Wq]¨OWpOU R\pÅO.

S^¡e¤ I¢Na] fáLrL¨OW. mLËV A¨TºV, KLzq] oPsij A¨TºV,
RyW|Pq]ã}yV Nk}o]pU A¨TºV, mLs¢yV x}ãV IÐ]v fáLrL¨OW.

Susan Grace Ltd., issued 20,000 shares of ` 100 each at ` 120 payable as follows :

On Application ` 25

On Allotment ` 45 (including premium ` 20)

On First call ` 25

On Final call ` 25

All the shares are fully subscribed.  Both the calls were made and all the money were
duly received.

Pass Journal Entries.  Prepare Bank Account, Share Capital Account, Securities Premium
Account and Balance Sheet.

- o 0 o -


